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Question 3:

Data from the mammography experience of 200 women are described in this Stata Dataset .  Variables in the dataset include: 
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Before proceeding with any modeling, recode variable SYMPT into two levels (0 = any agreement; 1 = any disagreement).  Also recode variable DETC into two levels (0 = not or somewhat likely; 1 = Very likely).
A) Model these women’s mammography experience using a multinomial logit procedure.  Include all the other variables as independent variables in your initial model.  Then perform likelihood ratio test for purposes of eliminating DETC and BSE.  Depending on the likelihood ratio tests, fit the final model.  Summarize the results of your analysis including a) assessment of model fit, b) checking IIA assumption, c) preparation and presentation of a table containing the results of the final model (include point and interval estimates for all relevant odds ratios), and d) conclusions from the analysis.   
B) Fit binomial logit models for all possible contrasts and compare your results from A).
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Varigble Description ~~ Codes/Values
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